Equal 9 step grey scaling betweeb* gon=17.9 andL* gov=95.9, Yoref=20.0, normalisation whiteW
L*0anF17.9,L%0aU=56.9,L* 0aw=96.0, Yoan=2.5, Yoa =249, Yoan=90.0,Coay=Yoaw: Yoan=36.0
L*tan=50.0,L*tau=67.1,L*taw=96.0, Ytan=18.4, %1ay=36.7, Ytaw=90.0, Giay=Ytaw: Ytan=4-9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100
g%= 99, g%= 99 9= 42, g¥y= 33 g%= 97, g%5= 86
L*cieLaB  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1141L*a Al*la
1007 (e 960 10 90 1.0 960 10 90 1.0 96.0
: 7.8 5.7
8 862 0875 685 0.754 88.1 0.829 724  0.876 90.3
: 75 5.8
751 (7 765 075 507 0.55, 80.6 0.666 57.8  0.75 84.5
: 7.1 5.8
6 66.7 0625 363 0.386 736 0.512 46.0  0.623 78.7
1 6.5 5.8
@5 569 05 249 0256 67.1 0.371 367  0.496 72.8
50 : 5.8 5.8
@+ 472 0375 162 0156 613 0.246 296  0.371 67.1
3 48 5.6
@: 374 025 98 0083 564 0.14 244 025 61.5
3 3.8 5.3
251 @2 277 0125 53 0032 526 0.058 20.7  0.134 56.1
: 2.7 6.1
@: 179 00 25 00 500 00 184 00 50.0
o= AL*=9.7 (i=1,2,....8) normalisation: Ytaiw=Y0ava
a e 1 Yoaw™* Yoref
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